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H/W CLASS-II Date- 20/ 8 /20

Mental maths

. What must be added to 33 to make it 50 ? L

. 28 +_ 28 = 56 (put correct sign )

.72 -40 = itens + _Zones

100+ 899 - 999

.443 — 3 =440 (put correct sign)

400 + 44+ 4~ 390 +54 (use<,>,=)
.Prakash is 13 years old . 8 years later he will be
jyears.

8.Add 186 by itself. Your answer is 372
9.You got 5 balloons from your mother and 6
balloons from your father. From those balloons
you gave 4 to your friend and 2 were blown away
by the wind ,so how many are now with him ?

)
- 188
10. Which is greater : 18tens or 188 ?
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Do the sums in your School copy.


17

+

3

2

899

_

=

21

372

5

188
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